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The continuous change that occur in an individual
1. Practice

2 Morality
3. Development
4

Learning
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The knowledge of growth and development makes the teacher to
understand

1. Memory of the students

2 Adjustment of the students
3. Learning of the students
4

Individual differences of the students

SRS - ISere 220 eﬁocsoagoﬁmga 8 K803
OIS SO0,

1. waagd%@ S &)@
33056%@ mjgamn

ZDCS"ZSCS(%@ @2;5526:60

L

ergae I Porew



The gland that influences the physical growth in the child

1. Pancreas
2 Pituitary
3. Adrinal
4 Thyroid
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Children explore the world around them and gain experiences and
construct their knowledge — This was stated by

1. Piaget

2 Chomsky

3. Carl Rogers
4 Freud
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According to Kohlberg children's moral development happens
through

1. 2 levels - 7 stages
2. 6 levels - 2 stages
3. 6 stages - 2 levels
4. 3 levels - 6 stages
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The theory that advocates the developmental activities like making
plans and doing activities by the children are the effect of
Initiative vs Guilt is

1. Cognitive development

2 Moral development

3. Psycho-social development
4 Psycho-sexual development
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Ramesh is highly creative with average intelligence. He is good in
drawing but average in studies. This characteristics shows

1. Intra-individual differences
2 Inter individual differences
3. Value differences
4

Level of aspiration
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The motive which motivates the individual to stably move towards a
goal

1. Interest
2. Attitude
3. Self concept
4,

Values
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10.

The Scientist who stated that individual's intelligence consists of

Concrete, Abstract and Social Intelligences.

1.

2.
3.
4.

Weschler
Thorndike
Jean Piaget
Binet
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‘Howard Gardner’ proposed a theory called .........

1
2
3.
4

Logical Mathematical intelligence
Visual special intelligence
Social intelligence

Multiple intelligence
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‘Alfred Binet’ introduced the concept of .........

1. Chronological age
2. Mental age

3. Intelligence

4. Intelligence quotient
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'Draw a person Test' is a test to measure
1 Drawing ability

2 Aptitude

3. Personality

4 Intelligence
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Mastering in Hindi Language doesn’t influence learning of
swimming. This is an example for

1.

2.
3.
4.

Positive transfer
Negative transfer
Bilateral transfer

Zero transfer
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A student of class-I recites Sanskrit Slokas. This is an example of

1.

2
3.
4

Immediate memory
Rote memory
Active memory

Short term memory
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The visual field of a person with normal vision is (in degrees)
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1 45°
2 90°
3. 180°
4 210°

The tension that developed in an individual in choosing one desire
out of two

1. Conflict

2 Aggression

3. Emotional stress
4 Emotion
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The method that has high objectivity is

1. Introspection
2. Experimental
3. Survey

4. Interview
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The following initiates an individual to do a specific activity
1. Aspiration

2. Skill

3. Motivation

4, Competency
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Every learner has his or her own way of acquiring knowledge. This
is called as

1. Learning readiness
2. Level of aspiration
3. Achievement motivation
4,

Learning style
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The oldest theory that explains transfer of learning is

1. Two factor theory

2 Theory of formal discipline
3. Theory of identical elements
4 Theory of intellect
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Encoding, Retention and Recall are the three aspects in this process
1. Memory

2 Transfer
3. Learning
4 Forgetting
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The book written by Ebbinghaus was
1. On memory

2 Anthropometric analysis

3. Experimental psychology
4

Genetic genius
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24,

Past learning hindering the recall of present learning, such
hindrance is called as .....

1. Proactive inhibition
2. Retroactive inhibition

3. Forgetting

4, Fuge
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"Activities interrupted in the middle of completion are better
remembered than activities completed"”. This was stated by

1. Skinner
2. Bandura

3. Chomsky
4, Zeigarnik
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Bruner’s 'Instructional Scaffolding' is similar to Vygotsky's .....
1. Self directed speech

2 Private speech

3. Social scaffolding

4 Inner speech
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Gestaltism is also called as .........

1. Social learning

2 Cognitivism

3. Programmed learning
4 Naturalism
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The Intelligent Quotient of Educable Mentally Retarded persons
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1
2
3.
4

50-70
70-90
30-50
<20

Suresh has difficulty in reading and writing numbers and solving
problems. His disability is

1.

2
3.
4

Dislexia
Disgraphia
Disphasia

Discalculia
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Oral, Sign and Total Communication methods are used in teaching

the following children

1
2
3.
4
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Visually Impaired
Hearing Impaired
Loco motor Disabled

Learning Disabled
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“Education for Peace” was proposed by
“3od §%0 DEF” (SBTHONSE

1
2
3.
4

NCERT

NPE - 1986
APSCF - 2011
NCF - 2005
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62.

63.

64.

English — Paper -1l — Extra Set -3

Choose the sentence that has a defining relative clause.

1. The money lender, who was old and ugly, fancied the
farmer's beautiful daughter.

2. A millionaire who was named Thomas walked into a popular
bank.

3. Who is Thomas walked into a popular bank.

Thomas who walked into a popular bank.

Is there a good hotel near here?
The meaning of 'a’ in the above sentence is;

1 much

2 many
3. any

4 the best

Choose the grammatically incorrect sentence among the following

1 | could not stop laugh when he told jokes.

2 She visited the country at least half a dozen times.
3. He worked as a lecturer for some time.
4

Dr. Kotnis always wanted to travel around the world.

All the tenth class students came through with flying colours.

Here the underlined idiom 'with flying colours' means

1 wore colourful dresses

2 sprinkled colours on one another
3. flew colourful kites
4

achieved remarkable success
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66.

67.

He is not healthy. He is not wealthy.

These two sentences can be combined as;

1
2
3.
4

He is either healthy or wealthy
He is neither healthy nor wealthy
He is wealthy but not healthy

He is healthy and wealthy

Choose the sentence in which the adverb modifies the verb.

1
2
3.
4

The old man walked slowly.
The old man is very weak.
Yesterday was a Sunday.

Today is holiday.

Read the following sentences.

e 0o o

Ratnanka was leading the procession.
One day Ratnanka got a rat made of gold, weighing one kilo.
It was kept in a silver trap and carried in a procession with pomp.

Its eyes were made of rubies, ears of sapphires and it had a
diamond chain round its neck.

The correct sequence of the sentences is:

1.

2.

d cha
a bcd
b dca
c dba
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69.

70.

71.

One of the following opening sentences is not suitable for a formal
or official letter. Choose the wrong one

| feel honoured to write to you......
| have the honour of inviting your attention to ........

This is to inform you that ......

> W npoE

It has been a very long time since you wrote to me .......

While writing a precise,

1. we should reduce the length of the passage to 1/3 of the
original

we should delete the important information
we may change the writer's point of view
we can delete the sentences we don't like

Choose the modal auxiliary verb that can be used to express
compulsion.

1 ought to
2 might
3. would
4 shall

Choose the primary auxiliary verb among the following

1 can
2 should
3. IS

4 shall
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74.

75.

The grammatically correct sentence among the following

1
2
3.
4

The road is uneven and full of pebbles.
My father laughed with my plight.
| concluded that it will be better to let him carry it.

Father have provided for my education.

He went to dogs only because of bad planning.

The underlined idiom 'went to dogs' means:

1
2
3.
4

went to Kennel
saw the dogs
was attacked by dogs

was ruined

| cannot remember what | wanted to speak to you ..........

Choose the correct preposition that fits the context.

1 for

2 about

3. up

4 down

Victoria dressed ......... her mother's instructions.

Choose the compound prepositional phrase that fits the context.

1
2
3.
4

according to
instead of
in front of

in place of
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79.

The following is a sentence without an adverbial clause

As Bayaji neared Budha Vihar, the children came running to

him.
Bhujaba did not respect because the latter was a Mahar
When she heard of Bayaji's arrival, her heart swelled

The tiger was terrified and he ran through the dark forest

The correct question tag for the sentence 'l am a teacher' is

1
2
3.
4

am | ?
are | ?
aren't | ?

don't | ?

Choose the list of words with all adjectives.

1 fuming, idealistic, bias

2 perpetrate, idealistic, fuming

3. perpetrate, peer, infrastructure

4 fuming, idealistic, various

Yesterday at this time, all of us .............. the cricket match.

Choose the correct tense form that fits the context.

1
2
3.
4

was watching
were watching
have been watching

watched



80.  Choose the adjective that indicates size.
1 beautiful
2 elderly
3. large
4 famous
81. Theold man'swallet ............. last month.
Choose the correct verb phrase that fits the context
1 has stolen
2 was stolen
3. stole
4 stolen
[82-84] Read the passage given below and choose the correct answer
to the question that follow.
In many modern countries it has for sometime been
fashionable to think that, by free education for all — whether
rich or poor, clever or stupid — one can solve all the problems
of society and build a perfect nation. But we can see that free
education for all is not enough; we find in such countries a far
larger number of people with University degrees than there
are jobs for them to fill. Because of their degrees, they refuse
to do what they think 'low’ work; and, in fact work done with
hands is thought to be dirty and shameful in such countries.
82.  The type of thinking fashionable in many countries is

1
2
3.
4

The poor can solve their problems
Education can solve all the problems
The rich can solve problems

None of the above



83.

84.

85.

86.

The writer is of the opinion that

1
2
3.
4

There are a large number of unemployed
The poor are not good people
Free Education for all is not enough

All the people should not be educated

Manual work is considered to be shameful by the educated because

1
2
3.
4

They are rich.
They are poor.
They consider it low.

They get poor salary.

The following aspect establishes a relation between theory and
practice of language teaching.

no

Approach
Method
Tool

Technique

If the test yields dependable scores which do not fluctuate very
much, the test is:

1
2
3.
4

Valid
Reliable
Practical

Scorable



87.

88.

89.

The materials which are real are also known as

English language served as 'lingua-franca'. What do you understand

1
2
3.
4

Models
Real objects
Visual materials

Authentic materials

by 'lingua-franca' ?

1
2
3.
4

The method that establishes a direct bond between word and its

International language
Language of Science and Technology
Link language

Source language

meaning, experience and expression.

1
2
3.
4

Bilingual method
New method
Direct method

Translation method



90.

What are the following statements connected with

e enables the teacher to do justice to the different portions of the
syllabus

e gives sufficient time and opportunity to the teachers for
preparation of the lesson before hand.

o keeps the teacher and the taught on the right track.
e permanent record of work finished or to be finished

Teaching
Planning

Learning

> w e

Recording
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3+5=2°

7+9+11=3°

13+15+17+19=4

From the above pattern, the value of 157 + 159 + 161 + ... + 181 is
R (E0 sHoé 157 +159 + 161 + ... + 181 &oo¥), Jens

1. 113

133
15°
173

The number lies between % and % IS
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95.

The nearest prime number to 175 is
175 % CS;(\GN’ éc‘g) @@5‘&)0@5

1. 167

2. 173

3. 177

4, 179
Ifx=3yandx:z=5:1thenx:y:zis
X=3y 00350 X:zZ =5:1®ons X:y:z
1. 15:5:3

2. 5:3:1

3. 3:5:1

4, 5:15:3

If a shop keeper sells an article for = 1260 he gets 10% loss. If he
wants profit of 10% he would have to sell it for Rs.

28 TGO SHQ T 1260 § esnye ojo0 10% SHo H0
638 10% O350 TPIBIY) BSHT BSOS 58 (rFrches’)

1 1400
2 1500
3. 1540
4 1560



The sum of the zeroes of the polynomial x> — 15x* + 66x — 80 is
X* = 15x" + 66X — 80 &3 20ddE Hramge 30080

1 80
2 66
3. -15
4 15

The discriminant of quadratic equation 2x* —3x +5 =0 is
2x* = 3x +5= 0 3EDEBEI0 Bk, DSFeE?

1 =31

2 31

3. 49

4 -49

If the angles in a triangle are in Arithmetic Progression, then the
exterior angle for middle angle in Arithmetic Progression is
B20208” S07 Seren wosEES” 0. & eS8 506
SHPINOIINISY 2J°:7°§§S£®o

1 150°
2 135°
3. 120°
4 105°



99. ABCD is a parallelogram such that AB [ICD and AD || BC if P is

the midpoint of CD then the area of AAPD is

1. % Area of parallelogram ABCD
2. %rd Area of parallelogram ABCD
3. %th Area of parallelogram ABCD

4, éth Area of parallelogram ABCD

ABCD 2.% 3570858 S&083)m0 AB [|CD 55865

AD|[BC CD8 5655 Do P @ans AAPD 357050

L ABCD 57088 Sdi)eo 3T508” Hio

2. ABCD 2357088 Sdhii)s pregos” %;s e

3. ABCDISross Seh)e peegos” %;s el

4. ABCDISrosSy Seye peegos” %;s el
100. The angle which makes a linear pair with an angle of 61° is

61° Ee3508° BH%H £550500 DBSSHOR E620

1 29°
2 61°
3. 119°
4 122°



101.

102.

area(AABC) 9

If AABC ~ AQRP, —and BC=15cm
area(APQR) 4

then the value of PR

1. 10cm

2 12cm

3. 20cm

4 8cm

AABC ~ AQRP, ET°(AABC) _ 95 o 55 BC = 15 0.2,
35050(APQR) 4

@00 PR Jens

1 10 200.25

2 12 290.20

3. 2020.2

4 80.2

The point which divides the line segment joining points (7, —6) and

(3,4) inratio 1 : 2 internally lies in the quadrant

1 Quadrant-I

2 Quadrant-11

3. Quadrant-III

4. Quadrant-1VvV

(7, —6) 508050 (3, 4) 5o S AdH2ésS Tyrpoikosy 1:2
D)’ woSTIN IPFR0B HoHY GOt o

1. 15 &0
2. 25 30
3. 335 50
4. 45 J°E0



103. If P(%, 4) is the midpoint of the line segment joining the points

Q(—6, 5) and R(—2, 3) then the value of a.
Q(—6, 5) 35835 R(=2, 3) DotHhosy e AcHads

Barpo%o SSH0SHY P(%, 4) 902035 a JeooS
1. -4
2. —12
3. 12

4. -6

104. The distance from the point P(3, 4) to X-axis is

1. 1 unit
2. 2 units
3. 3 units
4. 4 units

X-950 3008 P(3, 4) Dot Ko ;Socsagcirdaﬁoo

1 1 S5oreS
2 2 e
3. 3 crden
4 4 c5H3e



105.

106.

Three coins of equal radii 1cm each are arranged such that each coin
is touching remaining two. The area in between the three coins is
(in sg.cm)

1 0.0, SERPEO Ko S0 STE S HI0OK (S B

ADS Bo&EOE JrO® SEASON ©00)S THBINO e SInt1
37050 (3.20.008")

1, J3
T
2. -
\/_ 2
3. \/§+£
2
T
4. _Z
\/_ 6

The breadth of a cuboid is half of its length and height is %th of the

length, where length is x meters. Then the volume of cuboid is (in

cubic meters)

2.5 BY3050 Bk, Isen), FEIS” HK0 $H005» Iy FEHS”

%;s KO, FEP X W 00T PR SHOITE0 (50.2.08%

1. x°
3
2. X
2
3
3. X
4
3
4. X

|



107. The area of a circle whose circumference is 22cm is (in sg.cm)
F)BO HOQ 22 0.2 WO & S JTego (5.7300.20.087)

154
77
38.5
22

A w0 N -

108. The difference between the median of the data 19, 25, 59, 48, 35, 31,
30, 32, 51 and the median of the data when 25 is replaced by 52 is

19, 25, 59, 48, 35, 31, 30, 32, 51 © @), HEFHSIOSH B
53:0508° 25 £ axten 52 TSP ) Se0¥ SEgHeIS
SHess Bee

1 3
2 4
3. 2
4 1

109. If pi=2 1‘025, > f =20, f =100 then x is
. X —25 -
i = '10 Y f =20, ) f, =100 e00s X Jens
1. 23
2. 24
3. 25
4. 27



110. One card is drawn from a well shuffled pack of 52 cards then the

probability of getting a black queen card

2P E0DGS 52 S0¥) 00 Ko DESHI0E 2.8 S dak,
98 SeYTOK ?685 9085 Ko éoep"%zgeﬁ

. L
26
2. L
13
3, 2
26
s, 12
13

111. Ifcos @ = § then the value of cot 8 + cosec 6

cos 0 = g €90 COt O + Ccosec B0 ens



112. If the angle of elevation of a cell tower from a distance of 200m

from its foot is 60°, then the height of the cell tower in metres

6 0358 0@Rerrdd 2000, ErS008 €358 parmd) 60°
&S Er08" S DE0SE %y Wied’

1. 20043
200
2. =2
J3
3. 10043
100
4, =2
J3

113. The number of subsets for P = {a, b, ¢, d} is
P={a b, c,d} £ Ko &3doHo Qogg

1 4
2 8
3. 12
4 16

114. The shaded portion in the Venn

diagram represents
%), 3 AB0S” D& TS
2250 VoD

1 ANB
2 AUB
3. A-B
4 B-A



Paper-11 Set-VII Maths Methodology

115. The mathematician who classified “Mathematics as a mode of

thought™ as one of the mathematical value

1 Breslich

2. Black Harst
3 Munnik

4. Young

“08 S ST SEPT K3S50” B 28 KASTIR Jeosm 585800
Ke3¢8 TR
1 BS
2 2§ 5885
™ o
3. ;iwi‘)))g
4 oo”
116. The specification “Pupil selects appropriate method to solve the

problem” comes under the objective

1. knowledge

2. understanding
3. application

4, skill

“AgQ VDY FEIE R0 SAS HEB JOBEITD” 90 H)REGes
s OEFI0TH ToBIO
L 2psso

x
2. SIS
3. QIEBTHO
4 é@mso



117. *“Kilpatric” classified the projects into the following number of types

35 FIBE (FBHO® 3l SESwer SEBOAT

1 2
2 4
3. 6
4 8

118. The instrument that does not belong to mathematical instrument box
1 divider

2 protractor

3. compass

4 tape

Ke3S HOETPO DEH ToBI DOEEI»
1 Q2R

2 SNV
3. ;so)egé@a
4 &9



119. The Academic standard to be tested through the following test item
“Arrange -8, 6, 9, -2 in ascending order”
1. Problem solving
2. Reasoning-proof
3. Communication
4, Connection
“8, 6,9, -2 0 e85y (EH0S® @rchod” 8 o5 ek
28303800 Dy Hea S0
1 635531’5 JES
2 SEETR0 TIPE - BT Heae0 T30
3. ;5§_§0336£5650
4 V0GP0



120. The tests that aim at identifying learners strengths and weaknesses

1 Diagnostic tests
2 Proficiency tests
3. Placement tests
4 Aptitude tests

BEPODO DO, VOISO BWE SIS SEF0DS HOFen

1 oSy HOKen
® a
2 3”353%"565"895 ‘éégw
3. eSS HEKen
() <) @
4 oTdngg sbgw



121.

122.

FOE SXHS TR0 - D5 -2 - DS -7

Wrongly matched pair among the following is

1.

2
3.
4

Surface tension — capillarity
Bernoulli — flying of air craft
Pascal — Hydraulic Brakes

Barometer — Pressure difference

208 TJS° 18T es¢s

1.

L

SOBSS - TITPES

BEYD - IS0 IKBEO
F6 - 08 Bow
BN - DES S50

Commonly known shooting stars are

1.

2.
3.
4.

Asteroids
Comets
Meteors

Satellites

B0 DeNSWE ‘BADEGS $H%) e’

1.

L

30000080
[M] ™
S*EE) @
(‘—,;ezyen
e



123. The substance that forms an unclear image among the following is
1. Glass

2 wood
3. polythene cover
4 PVC pipe

208 398° ST NS DY DEYo
[%) (©)

1. ey

2. DY),

3. >O/S 5386

4. PVC 22 (°¢0)

124. The angle of deviation of light produced by glass slab is
e 830y 39 08 FoT oS 80

1. 47.5°
2. 0°
3. 90°

4. 24.2°



125. When the speed of a ball is halved, its kinetic energy

1. Remains same

2 Becomes half

3. Becomes 4 times
4 Becomes ¥4 times

2.5 208 @08, 5& DAS, D KAF

L 5w

2. DKHHEH08

3. 0ok BEKO®

4. TS $08 OKH®

126. Nature of fuse in house hold electricity is
1. Thin wire of high melting point
2 Thick wire of low melting point
3. Thick wire of high melting point
4 Thin wire of low melting point
088" TE o5 ygE B, ©Fe0
L oY (SIWISLS0 SOAS DY 8K
2. SN (BAPSSLI0 TORS DHoSHS SX
3. R (BIFSSLI0 FOAS 085S S
4. ST (SIFISLS0 FOAS DD SK



127. A non-inflammable substance is

1. petrol
2 alcohol
3. LPG

4 Wax

S 008 HTT0 T
[©)]

L 2SS
2. eontd
3. LPG

4. S0

128. The incorrect statement with regard to properties of matter among
the following is

1. Gases diffuse faster than solids
2 Solids have fixed shape

3. Fluids have fixed shape
4

Liquids and solids are not compressible

208 o8° DY $O°o H022080D HOS TES0

L TOnYHe0 HISICe K08 IKOM agdrra.
2. DIIETOL DDA e35°00 60000,

3. (BIT0L APAHS 5750 &0k

4. (BTe0 30805 PIIETE VONEC ToEY



129.

130.

Heat -
CuO, +H,,, —=—Cu,, +H,0,, isanexample of

1. Double displacement reaction
2 Oxidation reaction
3. Reduction reaction
4 Redox reaction
&0
CUO, +H,) —E—Cu +H,0,,) B 585
1.

(0L ABAITS
2 esg(ﬁds'a Iy

3. §O558e3 58§

4 8§y w33

If the atomic masses of magnesium and chlorine are 24 and 35.5
respectively, the molecular mass of magnesium chloride would be

MR DB FOI® DTI;e (SISO 0 SV 24 580
35.5 @anS Jfjaco §E e (5350°8.

1. 98
2 69.5
3. 95
4 83.5



131. Eka-Boron predicted by Mendaleev and after
its discovery it was named as

1. Scandium

2 Boron

3. Gallium

4 Germanium

2008953 &804S Deestors, @ §5o§6z)_a3&5

STYS T DD,
1. °),.0800
2. &o8

3. o

4. 58&?00‘530



132.

Identify the wrong statement with regard to properties of highly
reactive metals is

1.
2.

Potassium reacts with steam and displaces Hydrogen

Sodium reacts with diluted strong acid and displaces
Hydrogen

Potassium reacts with cold water and displaces Hydrogen

Sodium doesn't give peroxide even in the presence of excess
of Oxygen

0¥ 15@5%@5?(@ St $0° 0 VOWORODS SRSGTEG0
5801506,

1.

Perno00 Ve3 eABS° S 2302 &I LS\goFo
Dolowo.

FPEDH0 DT OB BSTeS” IE5dD TS B
LS(@oFo Boowh.

eTRAD0 BPD ABSE S8 258D P B F@oFo
Zolowo.

PED0 VY eymS VHFES® B0 BTFED KW



DEFOR - B85 -2 -5 -7

133. The venation in Maize leaf is

1. Pinnate Reticulate venation
2 Reticulate venation

3. Parallel venation

4 Palmate Reticulate venation

300K, &%) HBoF' B30 T§HF0

1. 33731)3"6 TOSE BIO F°§DI0
2. ZPUPTE B3IV J°§‘§DE50
3. PSSO To IR =SS 10} s"zgz:éo
4 TTST oSS B0 IFFIS0

134. According to Whittaker (1969) the organisms, placed into the
Kingdom “Protista’ are

1. Eukaryotic and Unicellular

2 Prokaryotic and Unicellular

3. Eukaryotic and Multicellular

4 Prokaryotic and Multicellular

ZEE (1969) (3560 (FEY oo &8 Bwbs SYeo
1. So(ESsren G, JESed A:Hen

So(&5ren B, Jssey AYew

So(Eisren &), TS e

Lo

Zo(&5ren BAD, e BJew



135. The growth cells in the girth of stem are

1. Apical meristematic tissue
2. Dermal tissue

3. Lateral meristematic tissue
4. Vascular tissue

SO0 T, SO KGN SOR0T SeTen
1. e Z)z,?wg e 9

2 950375§8‘323'°©O

3. 3"(5?23 Deresg SETIP

4

(@0Tes Eerere0

136. This hormone increases heart —beat rate and rise in blood sugar
1. Adrenalin

2 Thyroxine
3. Prolactin
4 Thyrotrophin

NSO R)0BBD, B0’ EY 8 e OB WEYS

L odsO
2. BodR

3. oS
4. BSOS



137. The plants planted by the farmers to strengthen the field bunds and
to enrich the soil nitrogen are

1. Dolichos
2 Gliricidia
3. Avecenia
4

Glycinmax

o0 Kty QM okerdd, JoS FE'aS Vet DoSES
Defoen & Iv¥y e

1. =OP%H

2 RODASST
&2

3. 9535

4 RHT 5§)
£2

138. The biggest bacteria, discovered by Heide. N. Schulz in the coastal
waters of Namibia

1. Azospirillum
2 Thuringiensis
3. Azobactor

4 Thiomargarita

SDASTT D30\ BT |TroesoS” TrE. IS, WG SR 8D

238835
o
1. eaé’s@vjagiv
2. B85 R20505HD
3. 9% ogoseE
[h]
4, BErSrEoer



139. The clean window in sclera in front of the Iris is

1. Cornea
2. Fovea
3. Retina
4, Pupil

BYEREOS" EHAHB 000t VWS 8638 Sod erKo

1. DTS00
™

2. ZaiSQ iioéb

3.  Jgneeo

4. x:xlet]

140. The scientist, who said, “If animals are making the air impure, plants
are making it pure,” is

1. Von Helmont
2. Priestley

3. Stephen Hales
4,

William Beaumont

“20e50:9e0, MO EL0RHO B0 JoE) ed T HEHEOT00”
o IS PR,

1. S) ’J%P&oes_

>~ (6] N
(2]
z%d
o
o
e

OG0 a>5°§;55°oe‘5_



141. The cross between F1 progeny and their recessive homozygous
parent is

1. Monohybrid cross
2 Dihybrid cross

3. Test cross

4 General cross

F100888, o763 €085 HSodbor) 25Hod” 28R 10550
1. DE DOET HVoET0

&OS DOEY J05Te30

Zoég; DoESe0

L

5y HoEEe0

142. The gene therapy in which functional genes are introduced into
sperms or ova is

1. Germline gene Therapy

2 Germ and somatic gene therapy
3. Somatic gene therapy

4 Atavistic gene therapy

B ¥ syIoss DEsere B (Q Duserd’d E3FgE0
oo T e

1. Des Sea (Ie3 20§038)

2. D, B Ser (38 20§ 88)

3. B Sed (363 g

4. @wg)ég &mgi’béé‘\)



143. Seeds of this plant are used in the production of biofuel.

1 Crotalaria

2 Brassica

3. Pisum

4 Jatropa

R530550 SATES B8 Y. BTV &EIBPATD.
1L (Eedscsr

B~ W N
e J
1S
gn

144, “Cell theory’ was formulated by

1. Watson and Crick

2. Schleiden and Shwann
3. Engler and Prankil
4.

Bentham and Hooker

Eed DEPOS0” & (POIBOVS KD
(e8] fr)

L >eE, 8§
2. aGS, XS
3. 3R5, ragd
4. BoED, TuEE



145.

146.

X)) dEEoR- D6 -2 - -7
"Sound is a form of energy — explain an experiment you have done
to prove this" — This question tests the following Academic standard

1 Information skills and projects

2 Experimentation and field investigation

3. Communication through drawing and model making
4

Asking questions and making hypothesis
"G50 2.8 8 N0 - BAY AL AP TS (FEFTY
DSBOPIN" - B (9 Bs ITYRIPETRY) 80
1. DI ESE Sedeagsoen, (B
PEBrres, FEHo8oses
573100 Ao5¢20, SHTT e SASTHBAE0 OO LPS(HIT0

L

(oS0, HOTwYSen FHEo

One of the following is a basic process skill

1 Interpreting data

2 Hypothesizing

3. Experimenting

4 Inferring

308 TS’ 258 ST AT Feaso
1. G0 g0

DOZOYS (FATES

BB>K0 Sakeso

Ll

or23¢3830 / doedosEo
ed ()



147.

148.

If the discrimination value of a test item is 0.6, then the level of the
item is

1 Average

2 Above average
3. Poor

4 Below average

RS ?.685"0%’0 Eo08), 0¥ JTFET Jes 0.6 BN, e ©0F0
SBoo¥), égooo

1. QK

2. Qe 57 KD
3. DO° SIS

4. e 57 EX)S

This chemical is used to preserve biological specimens in wet
conditions for a longer period in the laboratory

1 Naphthalene
2 Spirit

3. Formalein

4 Alchohol

S5TR VPDIH BErKToS’ BYTeo $& 28SE° HEITHOD
B8 SPADIRY) TESD.

L 908
2. &

3. >5dS
4. eo S



149.

150.

Name the best teaching aid that can be used to teach the life history
of fern plant effectively

> w o

Bulletin board

Flannel board — flannel graphs
Vivarium

Printed chart

28) B0y, BI85 SHSS BoSoSOr FROSEFIS SDBFROBEAS
¥OS S ESTHESe0

t—.\

Lol

2008 23£§

T8 56 - 335 )
800

I0OE T

“Heuristic method is a method of teaching which involves in placing
our students as far as possible in the attitude of a discoverer” — This
statement is given by

1
2
3.
4

Armstrong
West way
Rey burn

Combs

“AIPGREO QAL IACTTOD BLHO HOD BeRHETETIS whHe
2BFEH $HHFOS® S0H TR BOFH0D BeED VLY
05038 HES” - I AKDODIT.
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